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Statement and Assumption

dFku ,oa iwoZèkkj.kk,¡
Assumption  means "to easily guess the

implicit meanings contained in a given
statement". The meaning of implicit is to suggest
or express in an indirect way. Sometimes people
do not say what they have in mind, that is, what
they think about, but we get the meaning of that
thing from their statements. For example, if we
say that 'an honest police superintendent has
arrived in the city' that will stop crimes.
Therefore, it is a complete concept that if the
police superintendent is honest then the crimes
will be stopped. So it is clear that when we say
something, we do not express every emotion of our
mind. We leave many things / ideas inside us
without saying. This tendency of ideas can be
defined as predetermined.

Some important facts to solve questions
related to Assumption

(i) A statement can have more than one
assumption.

(ii) Any preconception should be common.

(iii) No predicate statement should be more
comprehensive than the statement.

(iv) Assumptions and statements should be
meaningful to each other.

(v) The prediction must contain the exact
sense of the statement.

(vi) No assumption should contain anything
outside the statement.

(vii) Such an assumption should be considered
as a valid one, which reflects the effect of the
statement communicated to the public interest
and the duty of the informer and which is likely to
have a detrimental effect if not continued.

(viii) An assumption that shows any
improvement, beneficial effect or result, should be
considered valid.

(Assumption) 
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(ix) An assumption that expresses the same
effect on two objects of the same class should be
considered  valid.

(x) No assumption should be a conclusion drawn
from the statement.

Analytical description of validity of
assumptions

Based on the above examples, it can be
concluded that the task of evaluating the validity
of an assumption is not difficult, but to complete
this task properly, it is necessary to be careful and
correct. Sometimes just one word / sentence
makes a huge difference when evaluating the
validity of an assumption. Looking at the various
aspects of assumptions , we are clarifying some
important things, which will help you to identify a
valid assumption.

(I) The presence of certain words in an
assumption gives a kind of uniqueness to this
sentence, making it authentic or unproven.
There are some words which put more emphasis
on the sentence than other words, which changes
the general meaning of the sentence. Therefore,
when such words are used in a sentence, we need
to be careful. Words like only, best, strongest, all,
definitely etc. provide some kind of certainty and
you should be able to understand their meaning in
a sentence.

Assumptions based on advertisement,
information, appeals and PILs

Advertisements are usually issued by firms /
companies/ institutes / industries or government
bodies to attract people or to state their specified
characteristics or qualities.

Most of the information is issued within an
office, in which the information for the concerned
persons is mentioned.

Appeals are made by the government, voluntary
organizations or some other agencies. It is usually
accepted immediately for help or sympathy. It can
also be an indirect suggestion.

Public interest information is usually issued by
the government or other competent authorities.

In all these types of questions, the
assumptions of the following types are considered
to be valid.
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Directions (Q. 1–25): In each question below is
given a statement followed by two assumptions
numbered I and II. An assumption is something
supposed or taken for granted. You have to
consider the statement and the following
assumptions and decide which of the assumptions
is implicit in the statement.

I II

Give answer/
(a) if only Assumption I is implicit.

 I
(b) if only Assumption II is implicit.

II 
(c) if neither I nor II is implicit.

I II
(d) if both I and II are implicit.

I II 
1. Statement / 

The state government has decided to appoint
four thousand primary school teachers during
the next financial year.

Assumptions / 
I. There are enough schools in the state to

accommodate four thousand additional
primary school teachers.

II. The eligible candidates may not be
interested to apply as the Government
may not finally appoint such a large
number of primary school teachers.

2. Statement / 
The government has decided to provide monetary
relief to the farmers in the drought-hit areas.

Assumptions / 
I. The farmers of the affected areas may

accept the government relief.

EXERCISE

II. The government machinery may be able to
reach the affected farmers to provide relief.

3. Statement / 
“If you have obtained 75 per cent or more
marks in Std X examination, your admission
to our coaching class for XII Std is
guaranteed.”— An advertisement

75

Assumptions / 
I. Bright students do not generally opt for

attending coaching classes.

II. The coaching class has adequate capacity
to accommodate all such students.

4. Statement / 
“Invest in our regular scheme and earn an
interest of at least 10%.” — Advertisement by
a Financial Institution

10%

Assumptions / 
I. 10% interest may attract a good number

of investors.
10%

II. No other scheme offers interest as high
as 10%.

10%

5. Statement / 
“Join our Yoga institute to keep yourself
completely fit.” — An advertisement

Assumptions / 
I. People may prefer exercise to medication.

II. There is an awareness to a great extent
about Yoga exercises among people.
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6. Statement / 

If you want to get a good job you must have at
least the basic knowledge of computers.

Assumptions / 
I. All good jobs involve use of computers.

II. Nowadays computer knowledge has been
made an essential criteria by most of the
companies.

7. Statement / 

Ten candidates who were on the waiting list
could finally be admitted to the course.

Assumptions / 
I. Waitlisted candidates do not ordinarily

get admission.

II. A large number of candidates were on the
waiting list.

8. Statement / 

These mangoes are too cheap to be good.

Assumptions / 
I. When the mango crop is abundant, the

prices go down.

II. The lower the selling price, the inferior is
the quality of the commodity.

9. Statement / 

Many organizations have switched over to
online mode of examinations.

Assumptions / 
I. Candidates from all parts of the country

may be well-versed using computers.

II. Online mode of examinations helps in
recruiting more capable personnel.

10. Statement / 

The college administration has instructed
all the students to stop using cell phones
within the college premises.

Assumptions / 
I. The students may stop using cell

phones in the college premises.

II. The students may continue to use cell
phones in the college premises.

11. Statement / 

“Put a notice on the Board that all the
employees should come on time to office.” —
An officer tells his assistant.
“

” —

Assumptions / 
I. All the employees come late.

II. Employees read such notice on the
Board.

12. Statement / 

“The gravity of the situation demands stern
action on our part.” - A police officer tells his
subordinates.
“

” —

Assumptions / 
I. Unless stern action is taken the situation

will not improve.

II. Stern action is a choice only for grave
situations.
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13. Statement / 
The world gold production has continued to
grow irrespective of the price hike.

Assumptions / 
I. Quantity of gold produced doesn’t affect its

price in the market.

II.  In case of price hike the production of
gold should be reduced.

14. Statement / 
An advertisement: If you want to follow the
footprints of an ideal leader, wear ‘X’ brand of
shoes.

‘X’
Assumptions / 
I. Most people like to become ideal leaders.

II. One can’t become ideal leader unless one
wears ‘X’ brand of shoes.

‘X’

15. Statement / 
An advertisement: Now you can own a new
car in just Rs 1,999 per month.

1,999

Assumptions / 
I. People do not want to buy used cars.

II. Most people can afford to pay Rs 1,999
per month for a new car.

1,999

16. Statement / 
Beware of dogs. Our dogs do not bark but they
are trained to distinguish between genuine
guests and intruders.

Assumptions / 
I. Barking dogs rarely bite.

II. Our dogs could be dangerous for
intruders.

17. Statement / 

The Government has decided to overhaul the
structure of school fee by linking the school
fee with the incomes of parents.

Assumptions / 
I. Parents will furnish correct information

about their incomes to schools.

II. Parents will agree to pay the fee after the
overhauling of the fee structure.

18. Statement / 

The Government should engage the Army for
the rapid rehabilitation of people affected by
the cyclone.

Assumptions / 

I. Only the Army can rehabilitate the
people affected by the cyclone quickly.

II. The Army can take up works other than
war also.

19. Statement / 

The government has decided to launch food-
for-work programme in all the drought-affected
areas.

Assumptions / 
I. The government has the machinery to

implement the food for work programme
in all the drought-affected areas.

II. There is enough food in stock to
implement the programmes successfully.
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20. Statement / 

“Learn computer at no cost and make your
life more meaningful.”—An advertisement

Assumptions / 

I. People prefer to join courses without any fees.

II. Knowledge in computer makes life more
meaningful.

21. Statement / 
‘‘If you are first class graduate, our organisation is
the best place for you to work.” — An advertisement

Assumptions / 

I. No other organisation may require first
class graduates as they may not get
adequate number of applications.

II. First class graduates may get attracted
and apply to this organisation.

22. Statement / 

The X-Airlines has decided to increase the
passenger fare by 15% with immediate effect.

X 15%

Assumptions / 

I. The demand for seats of the X-Airlines
may remain unchanged even after the
hike of fare.

X 

II. Other airline companies may also hike
the passenger fares.

23. Statement / 

“Our bank provides all your banking
requirements at one location.” — An
advertisement of a bank

Assumptions / 

I. Customers prefer to carry out all banking
transactions at one place.

II. People may get attracted by the
advertisement and carry out their
transactions with this bank.

24. Statement / 

Recently there was an incident of robbery in
a bank located in a crowded area.

Assumptions / 

I. It was a holiday on the day of robbery.

II. The bank did not have any arrangement

of CCTV camera.

CCTV

25. Statement / 

Many people are facing the problem of obesity
due to their sedentary job.

Assumptions / 

I. A little bit of experience is needed to
reduce obesity.

II. Obesity has become a common disease.
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